48639001 HANSARONDA Style - Fertigset fiir Brause-Batterie

EAN: 4015474114807
static.hansa.com/48639001

Ersatzteile
SP48639001
Name Art.-Nr.

1 Hebel Chrom 59912941
11 Adapter 59912894
12 Temperaturanschlag Chrom 59912893
13 Hebel, 80 mm Chrom 59912128
14 Mengen-Einstell-Griff Chrom 59912130
15 Schraube, M6x20 59911228
2 Rosette, d 135 / d 56 mm Chrom 59912882
2 Rosette, d 56 mm 59913078
21 Abdeckkappe Chrom 59912896
23 Schraube, M5x25 Chrom 59912881
27 Befestigungshiilse 59913035
29 Befestigungsplatte 59913034
210 Schraube, M4.5x80 59912890
3 Temperatur-Wahlgriff Chrom 59912796
31 Schraube, M6x9.5 59901609
32 Blindstopfen Chrom 59911840
56 Blindstopfen 59912981
6 Thermostatkartusche, 1/2" Varox 59912843
6.1 0-Ring, d 26x2 59911081
7 Funktionseinheit, H/C reversed 59912979
7 Funktionseinheit 59912904
71 Uberwurfmutter 59912984
73 Riickflussverhinderer 59905714
74 Anschlussnippel, (2014-) 59913885
75 0-Ring, d 14x2 59912982
1.6 Ring 59912989
1.7 0-Ring, 50.52x1.78 59906841
N.I. Verlangerungssatz, 20 mm 59912754

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024


https://static.hansa.com/48639001

